SkbrV BK

DM-lag final 2013-2014, match 2

IMP o6ver féaltet, 10 bord, 20 par. Antal brickor: 12.

Plac Par Poéang Namn MID Klubb
1 9 269 Dan Nilsson - Leif-Ake Nilsson 5967 11788 Videdals BK - Ystads BS
2 14 193 Fredrik Jarlvik - Tatiana Trendafilova 4451 35574  BK Lavec - Malmo BK
3 15 189 Jan Becklén - Mats Pettersson 20525 5587 BK Lavec
4 6 178 Bjorn Sanzén - Rolf Bengtsson 5900 4614  BK Lavec
5 18 177 Osten Svantesson - Mats Holm 5765 4537 Videdals BK
6 10 134 Fredrik Wickstrom - Bert Jehpsson 4496 5541 Ho66rs BK
7 17 97 Borje Jarlvik - Walter Hilphers 4479 4452 Malmé BK
8 1 64 Thomas Andersson - David Probert 15537 3990 Malmd BK
9 2 24 Jan Nilsson - Lars-Ake Nilsson 4501 12667 Hoors BK - Hassleholms BK
10 13 13 Hans-Olof Hallén - Lars-Goran Niklasson 9896 11361 Malmé BK - LUCK
11 3 -13 Perry Sjoberg - Jan Gutenwik 5775 6302 Malmo BK - LUCK
12 12 -24 Peter Fredin - Johan Dieden 2514 10388 BK Lavec
13 11 -64 Viktor Andréasson - Simon Nilsson 89902 85753  HOors BK
14 7 -97 Michael Olsson - Urban Bjergert 5768 4531 Videdals BK
15 20 -134 Niklas Andrén - Torsten Eriksson 1623 493 Ystads BS
16 8 -177 Bengt Nilsson - Peter Gati 5797 11054 Malmé BK
17 16 -178 Johan Noberius - Mats Berggren 655 5549 BK Bridgehuset
18 5 -189 Eva-Liss Géthe - Hans Goéthe 5285 9054 BK Bridgehuset
19 4 -193 Hakan Litsegard - Staffan Essén 5536 5529  LUCK
20 19 -269 Nils Séderberg - UIf Bogren 12409 486 Hoo6rs BK
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»K62 &K #KD92
4 KKn642 &3 4D 4 Kn98652 410 49764
v K32 v 85 vEDKNn984 vK v EKD v 108643
+ KD9 + EKn864 4985 ¢+ EK ¢+ Kn762 ¢ K54
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v EKn10974 v52 v Kn5
¢73 + Kn6 + D10
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Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
6 16 24 V-3 vQ 300 73.0 -73.0|10 20 5#V-2 ¢4 100 90.0 -90.0| 4 14 24 S+2 vA 170 33.0 -33.0
111 2vN= &8 110 29.0 -29.0| 7 17 4v V-1 3 50 83.0 -83.0| 6 16 24 S+2 vA 170 33.0 -33.0
919 2vS= #A 110 290 -29.0| 2 12 4v V= ¢2 -420 -15.0 15.0( 7 17 34 S+1 vA 170 33.0 -33.0
10 20 2v S= ¢K 110 29.0 -29.0( 1 11 3NV+1 3 -430 -15.0 15.0( 2 12 24 S+1 vA 140 240 -24.0
4 14 INS-1 a2 -100 -19.0 19.0| 515 3NO+1 ¢J -430 -15.0 15.0( 9 19 24 S= vA 110 14.0 -14.0
515 INS-1 K -100 -19.0 190 4 14 4v O+1 &K -450 -240 24.0|10 20 24 S= vA 110 14.0 -14.0
7 17 INS-1 K -100 -190 19.0| 6 16 44 O+1 ¢J -450 240 240( 3 13 4vy0O0-2 «A 100 140 -14.0
313 46 O= 3 -130 -29.0 29.0| 8 18 44 O+1 ¢J -450 240 240 1 11 44 S-1 ©vA -100 -34.0 34.0
8 18 3¢ O+1 9 -130 -29.0 29.0( 9 19 44 O+1 ¥5 -450 -24.0 240 8 18 34 S-2 vA -200 -56.0 56.0
2 12 INS-2 a2 -200 -450 450 3 13 4vV+2 ¢3 -480 -32.0 320 515 44 S-3 vK -300 -75.0 75.0
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v EK6 v EK86 v Kn1093
¢ EDKn7 ¢ DKn7 ¢ Kn105
&»K72 &»E4 D432
Par  Kontr ut Res Poang Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang
111 3NS= «Q 400 30.0 -30.0| 919 2¢ V-1 7 50 280 -28.0( 6 16 74 V-1 #A 50 114.0 -114.0
212 3NS= «Q 400 30.0 -30.0| 1 11 44 S-1 ¢A -50 -1.0 10| 515 44 O+2 ¥J -480 45.0 -45.0
313 3NS= «4Q 400 30.0 -30.0| 2 12 44 S-1 +A -50 -1.0 10| 7 17 54 O+1 vJ -480 45.0 -45.0
4 14 3NS= «Q 400 300 -30.0| 3 13 44 N-1 T -50 -1.0 10| 9 19 44 O+2 wJ -480 45.0 -45.0
6 16 3NS= «Q 400 30.0 -30.0| 4 14 44 N-1 T -50 -1.0 1.0 8 18 44 O+3 vJ -510 38.0 -38.0
9 19 3NS= «Q 400 30.0 -30.0| 515 44 S-1 +¢K -50 -1.0 10| 1 11 64 V= 94 -980 -55.0 55.0
10 20 3NS= 4Q 400 30.0 -30.0| 6 16 44 S-1 +A -50 -1.0 1.0| 313 64 V= &A -980 -55.0 55.0
515 3NN-1 «Q -50 -70.0 70.0| 8 18 44 S-1 +A -50 -1.0 1.0(10 20 6NV = v2 -990 -55.0 55.0
7 17 3NS-1 «Q -50 -70.0 70.0(10 20 44 S-1 +A -50 -1.0 1.0 2 12 6NV+1 ¥4 -1020 -61.0 61.0
8 18 3NS-1 «Q -50 -70.0 70.0( 7 17 3NS-2 8 -100 200 20.0| 4 14 6NV +1 &7 -1020 -61.0 61.0
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vKn8763 v KKn87643 v 62
¢+ Kn4 ¢ ED2 ¢ DKn95
*K6 #DKn *E642
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poéang
8 18 3NO-2 ¢5 200 58.0 -58.0| 9 19 4vDO-7 #Q 2000 155.0 -155.0( 1 11 4y V+2 2 -480 45.0 -45.0
111 3¢ V-1 #2 100 350 -35.0| 313 4vS+1 48 650 37.0 -37.0| 515 44 O+2 +Q -480 45.0 -45.0
313 3¢ V-1 #2 100 350 -35.0|10 20 4v S+1 49 650 37.0 -37.0| 7 17 4vy O+2 +Q -480 45.0 -45.0
6 16 44 V-1 &T 100 350 -35.0| 111 44DO-2 #Q 500 6.0 -6.0( 8 18 4y V+2 7 -480 45.0 -45.0
4 14 3¢ V= &T -110 -10.0 10.0| 2 12 44DO-2 #Q 500 6.0 -6.0|10 20 4y O+2 ¢J -480 45.0 -45.0
7 17 3¢ V= &T -110 -10.0 100| 5 15 44DO-2 #Q 500 6.0 -6.0| 2 12 4vy O+3 ¢Q -510 38.0 -38.0
9 19 2¢ V+1 2 -110 -10.0 100| 6 16 44 O-3 +6 300 -32.0 32.0( 9 19 6y V= &T -980 -62.0 62.0
10 20 3¢ V= &9 -110 -10.0 100(| 4 14 44 O-2 v6 200 -54.0 540 3 13 6vO+1 «6 -1010 -67.0 67.0
212 24 V+1 &T -140  -20.0 200 7 17 4e V-2 vA 200 -540 54.0| 4 14 6vV+1 v6 -1010 -67.0 67.0
515 3NO+1 v6 -630 -103.0 103.0( 8 18 34 O= #Q -140 -107.0 1070| 6 16 6vy O+1 +Q -1010 -67.0 67.0
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v 965 v 82 v K8 v DKn642 vD8 v 10963
¢ E72 + KDKn108 +KD76 43 ¢+ KKn632 ¢ D8
#K1084 #D532 #542 #D83 *E74 #K63
# K82 « D54 « K73
v 1074 v 973 vE754
49654 + E109 ¢+ E104
#976 #EKKN9 #Kn85
Par  Kontr ut Res Poang Par  Kontr ut Res Poéng Par  Kontr ut Res Poéng
2 12 49y S= v5 420 540 -54.0| 2 12 24 V-2 ¢4 200 220 -220| 111 2v O-1 3 50 46.0 -46.0
3 13 44 N= oK 420 540 -54.0| 3 13 INS+2 ¢7 150 9.0 9.0 515 INV=  &T -90 10.0 -10.0
919 4vy N= +K 420 540 -54.0| 6 16 INS+2 48 150 9.0 -9.0( 6 16 INV= &9 -90 10.0 -10.0
4 14 34 S+1 46 170 -2.0 20| 7 17 INN+1 v4 120 0.0 00| 919 INO= &9 -90 10.0 -10.0
515 3y N+1 K 170 -2.0 20| 919 INS+1 ¢6 120 0.0 0.0|10 20 INV=  &T -90 10.0 -10.0
6 16 2y N+2 K 170 -2.0 2.0(10 20 INS+1 42 120 0.0 0.0| 8 18 INV+1l 2 -120 1.0 -1.0
111 3v N= ¢K 140 -12.0 120( 8 18 2v O-1 &A 100 -100  10.0| 2 12 24 V+1 45 -140 -8.0 8.0
8 18 54 0-1 &K 100 220 220( 1 11 INS= 2 90 -10.0 10.0( 4 14 24 V+1 &9 -140 -8.0 8.0
10 20 44 S-1 +A -50 -55.0 55.0| 4 14 INS= &2 90 -10.0  10.0( 3 13 INV+2 a2 -150 -8.0 8.0
7 17 4v N-2 +K -100 -67.0 67.0| 515 INS= 42 90 -10.0 10.0| 7 17 3NV = T -400 -63.0 63.0
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